

BAC RESOLUTION RECOMMENDING AWARD FOR THE SUPPLY AND DELIVERY OF VARIOUS AGRICULTURAL INPUTS FOR PHILRICE CMU

PB AES NO. 21-04-09

RESOLUTION No. 17 Series of 2021

WHEREAS, the Philippine Rice Research Institute advertised the call for Public Bidding for the project Supply and Delivery of various Agricultural Inputs for PhilRice CMU under PB AES 21-04-09 with an ABC amounting to One Million Four Hundred Seventy-One Thousand Two Hundred Fourteen and 00/100 Pesos (PhP 1,471,214.00);

WHEREAS, on November 26, 2021 at 10:00AM, the BAC convened for the Pre-Bid Conference of the project, with the virtual attendance of TWG - Agri. Inputs of PhilRice CMU, End-user/s and representative of Northern Agro, Inc., lone prospective bidder;

WHEREAS, on November 22, 2021 at 1:55PM, Northern Agro, Inc. of Jose Abad Santos St., Kidapawan City, Cotabato deposited the payment for the bidding document of the project, thru LBP Account of PhilRice Agusan;

WHEREAS, on November 29, 2021 at 9:15AM, Northern Agro, Inc. submitted their Bid Proposal at PhilRice CMU Field Office through a courier;

WHEREAS, on December 9, 2021 at 2:00PM, the BAC convened at PhilRice CMU Field Office for the bid opening and thoroughly examined the bid proposal of the lone prospective bidder, Northern Agro, Inc.;

WHEREAS, during the opening of bid, Northern Agro, Inc. was rated PASSED and was declared ELIGIBLE BIDDER for the project;

WHEREAS, the bid proposal of Northern Agro, Inc. amounting to One Million Four Hundred Sixty-One Thousand Fourteen and 00/100 Pesos (PhP1,461,014.00) was found to be a responsive bid;

WHEREAS, upon careful examination and evaluation of all the documents submitted for the bidding, it was found out that the eligibility and technical documents as well as the financial documents required in R.A. 9184 were successfully met by Northern Agro, Inc.;

д россия или устания глицическ









NOW, THEREFORE, We, the members of the Bids and Awards Committee, do hereby RESOLVE as it is hereby RESOLVED:

- 1. To AWARD the Supply and Delivery of various Agricultural Inputs for PhilRice CMU under PB AES 21-04-09 to Northern Agro, Inc. of Jose Abad Santos St., Kidapawan City, Cotabato, in the amount of One Million Four Hundred Sixty-One Thousand Fourteen and 00/100 Pesos (PhP1,461,014.00), for having a Single Calculated and Responsive Bid;
- 2. To **RECOMMEND** for approval by the Branch Director, the foregoing findings.

RESOLVED, this 13th day of December 2021.

JASMIN J. REYES

BAC Chairperson

JEHRUE. MAGAHUD

Member

KHAREN R. GALVEZ

Member

EDELS. MOÑEVA

TWG- Agri. Inputs (CMU)

CHERRYL U. SEVILLE

BAC Vice Chairperson

JERRY de VILLARINA

Member

DIONRILL C. NOJA

Provisional Member/End-user

JULIAN MAY DADOFALSA

TWG- Agri. Laputs (CMU)

APPROVED:

CAESAR JOVENTINO M. TADO

A fundament and confirm they mee







NOTICE OF AWARD

December 14, 2021

NORTHERN AGRO, INC. Abad Santos, Kidapawan City North Cotabato

Dear Sir/Ma'am:

We are pleased to notify you that PhilRice awarded the procurement of the following:

PARTICULARS	DEPT/OFFICE	TOTAL AMOUNT	
Various agricultural inputs for 2022 Dry Cropping Season 95.34 has. Inbred Seed Production in Philrice CMU Field Office	Business Development Division	PhP 1,461,014.00	

In this connection, you are hereby required to immediately post a performance bond, the amount of which is in accordance with the provision of RA 9184 which was approved by the President of the Philippines on January 10, 2003 as indicated below:

Form of Performance Security	Amount of Performance Security (Equal to the Percentage of the Total Contract Price)		
a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank			
b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five percent (5%)		
c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security and/or	Thirty percent (30%)		
d) Any combination of the foregoing.	Proportionate to share of form with respect to total amount of security		

A food-secure and resilient Philippines

with emperience and prosperous formers and forcertain









Quality Rice. Quality Life.

Failure to post the performance bond within ten (10) calendar days upon receipt of this notice would mean a refusal to accept the award. Such is sufficient ground for PhilRice to impose administrative sanctions on your company. The contract/Purchase Order (PO) shall be released upon compliance with the requirement set forth herein. Kindly coordinate with the Supply Assistant at mobile number 0909-822-9813 regarding the above mentioned requirement or any inquiries.

Thank you very much.

Very truly yours,

DIONRILL C. NOJA Manager

Conforme:

ALAN P. CHANG

SIGNATURE OVER PRINTED NAME NORTHERN AGRO, INC.

A food-secure and resilient Philippines

with empowered and prosperous farmers and fullarial











Philippine Rice Research Institute Sayre Highway, Musuan, Maramag, Bukidnon

PURCHASE ORDER

		ORDER			Page 1 of 1
Supplier	NORTHERN AGRO INC.			BDD21-12-106	
Address	Abad Santos, Kidapawan City, North Cotabato Date			12/16/2021	
TIN		Mode of Procurement	Public Bid	ding	
Gentlemen: Pl	ease furnish this Office the following articles subject to th	e terms and con-	ditions cont	aimed benefit	
Place of Delivery	For Delivery within 5 calendar day(s) upon receipt of purchase order		Delivery		
Date of Delivery			Payment Payable n/15		
Item Code	Item Description Unit			Cost Amount	
	Chemicals		Quantity		
	Clothianidin, 200ml/L (500ml)	bot	30	559.00	16,770.00
	Cypermethrin, 50g/L (1000ml)	bot	30	499.00	14,970.00
	Thiamethoxam,141g/L + Lambdacyhalothrin, 106g/L (250ml)	bot	50	899.00	44,950.00
	Phenthoate and BPMC 350 EC	bot	30	999.00	29,970.00
	Difenoconazole 150g/L + Propiconazole 150g/L (250 mL)	bot	95	899.00	85,405.00
	Butachlor 360g/L + 2,4-D 240g/L (1000ml)	bot	50	899.00	44,950.00
	Niclozamide, 700g/kg (1000g)	box	50	1,399.00	69,950.00
	Methomyl	box	30	699.00	20,970.00
	Chlorantranliprole	bot	60	999.00	59,940.00
	Fertilizers				
	Ammonium Sulfate (21-0-0-24S)	bag	188	1,299.00	244,212.00
	Complete (14-14-14)	bag	187	1,499.00	280,313.00
	Muriate of Potash (0-0-60)	bag	143	1,859.00	265,837.00
	Urea (46-0-0)	bag	123	2,299.00	282,777.00
	*********nothing follows*******				
	- The Marie States				The state of
				A 15 50	1-1-1-01
Amount in Words	One Million Four Hundred Sixty One and Fourteen P	esos Only		ini sa la	1,461,014.00
	e to make the full delivery within the time specified above	e, a penalty of on	e-tenth (1/	(10) of one percent	t for every day of
Conforme:					
omorme.	VI VI	ery truly yours,		A.	
	NORTHERN AGRO INC.			DIONRILL C. I	NOJA
	Signature over Printed Name of Supplier		-	Manager	5/1-
	12-16-3021 Date			Date	
	\triangle		ril 1	ORS No.	
	JOBELLE O. SARATE Accountant		ORS Date		
	Date		Amount		





NOTICE TO PROCEED

December 16, 2021

NORTHERN AGRO, INC.
Abad Santos, Kidapawan City
North Cotabato

With the approval of the attached Purchase Order (PO) No. BDD21-12-106, we are pleased to inform you that contract between PhilRice and NORTHERN AGRO, INC. may commence effective three (3) days after receipt of this Notice.

In relation thereto, you are hereby responsible for performing the services or delivering the goods under the terms and conditions of the PO.

Please acknowledge receipt and acceptance of this notice by signing the space provided below. Kindly return a signed copy thru email (philricefocmu.2019@gmail.com), or courier to the Philippine Rice Research Institute, CMU-Field Office, Maramag, Bukidnon.

Thank you very much.

Very truly yours,

DIONRILL C. NOJA Manager

ACKNOWLEDGEMENT

I acknowledge receipt of this Notice on:	(2/14/2021
Name of the Representative of the Bidder:	ALAN P. CHANG
Authorized Signature:	

A food-secure and resilient Philippines

with empowered and prosperous formers and fishertally





